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Computer Proficiency Certification Test

Notations :
1.0ptions shown in green color and with % icon are correct.

2.0ptions shown in red color and with * icon are incorrect.
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Subject Name : Computer Proficiency Certification Test
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Duration : 120

Total Marks : 75

Display Marks: Yes

Share Answer Key With Delivery Engine : Yes

Actual Answer Key : Yes

Calculator : None
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Question Number : 1 Question Id : 2549896878 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following contains information about the sites you visited, or may even contain credentials for accessing the site?

Options :

1. % Cookies
2. % Plug-ins
3. % ActiveX
4

. # Javascript

Question Number : 1 Question Id : 2549896878 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafefad o 3 fraw smues gRT 3T TS A1gel & IR B TSGR 8, 1 T3 b Ugar & o7l (TR /) He Rd o 81 Iahd g2

Options :
1. % DI
B ECE )

2
3. & Tfgeauad (ActiveX)
4, & ARy

Question Number : 2 Question Id : 2549897250 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which directory contains the shared library images needed to boot the system and run the commands in the root filesystem in Linux?

Options :
1. % /lib
2. & /dev
3. % /bin
4

. % fusr

Question Number : 2 Question Id : 2549897250 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

forTa T Rew 31 g a3 3R T BId Rieew T wHis I & e forg Sravaedt o 98 argas) Sl & sRevd gidl 82

Options :
1. % /lib
2. % /dev
3. % /bin
4

. ® Jusr
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Question Number : 3 Question Id : 2549897840 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An organised collection of related data is known as
Options :

1. * data

2. ® a data structure

3. % a database

4. % aprogram

Question Number : 3 Question Id : 2549897840 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Taifird Se1 & FafRd g & e S 3 |
Options :

1. ¥ 82l

2. % ST WRR

3. % STy

4. % U™

Question Number : 4 Question Id : 2549897922 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following characters must be a part of an email id?
Options :

1. % Hash(#)

2. % At the rate (@)

3. % Dollar ($)

4. % Ampersand (&)

Question Number : 4 Question Id : 2549897922 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fRofefad & 4 H-91 gof (character) éﬁa’ Gflg@ F1 ew1 g1 1 w?
Options :

1. % g ()

2. ¥ I (@)

3. ¥ IR ()

4. % T0WS (&)

Question Number : 5 Question Id : 2549898445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which function in MS-Excel 2019 returns the count of the cells that meet one or more criteria?
Options :

1. ® COUNTA

2. % COUNTI

3. % COUNTIFS

4. & COUNTIF

Question Number : 5 Question Id : 2549898445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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MS-Excel 2019 & ®I-TT1 o= U A7 SfAH AFCS! DI IR B aTcl Udl &1 G Alerdl 82
Options :

1. = COUNTA
2. % COUNTI

3. % COUNTIFS
4. % COUNTIF

Question Number : 6 Question Id : 2549898994 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A collection of related web pages is called a:
Options :

1. * server

2. & client

3. % website

4. ® gearch engine

Question Number : 6 Question Id : 2549898994 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& 39 USH & IS DI T HeT Sl 62
Options :

1. % FaR

2. ® &lgC

3. % dedISe

4, % Td 3o

Question Number : 7 Question Id : 2549899347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard keys is used to control the cursor or the insertion point on the screen?
Options :

1. % Escape

2. % Function

3. % Navigation

4. % Toggle

Question Number : 7 Question Id : 2549899347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

R BRI R H ERTIRAFT R PI6IS Hoit 1 Suai fbar S |
Options :

1. & W (Escape)

2. % ThaRH (Function)

3. AfaTRH (Navigation)

4. ® TTA (Toggle)

Question Number : 8 Question Id : 25498930225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In an MS-Excel worksheet, the 'zoom' bar appears at the portion of the worksheet.
Options :
1. *= top-left
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2. % top-right
3. % bottom-left
4. % bottom-right

Question Number : 8 Question Id : 25498930225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel T ﬁ, S[H (zoom)' AR IHe & yrT ﬁ@'l_‘éc gl
Options :

1. % 2RE.ETT (top-left)

2. % 2.7 (top-right)

3. % dd-9TC (bottom-left)

4. %" Td-aI4 (bottom-right)

Question Number : 9 Question Id : 25498930641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Every computer connected to the internet must have a(n):
Options :

1. % LED display

2. % tertiary memory

3. % IP address

4. % gwitch

Question Number : 9 Question Id : 25498930641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SRACT IS TP PR ATH gAY
Options :

1. % LED &%t

2. % giias AEd

3. % [P USY

4. % g

Question Number : 10 Question Id : 25498930676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Intel High Definition Audio sound card has a frequency of kHZ.
Options :

1. %32

2. % 441

3. %96

4. % 192

Question Number : 10 Question Id : 25498930676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
20 BTE SfBIRA oS Trds H1E Ft gt KHZ Bt &
Options :
1. %= 32
2. % 441
3. % 06
4. % 192
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Question Number : 11 Question Id : 25498930986 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following best describes MS-Word software?
Options :

1. & It is a system software.

2. % Itis a GUI-based operating system.

3. % It is a word processor.

4. % It is a firmware.

Question Number : 11 Question Id : 25498930986 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafafed § ¥ SH-91 HUF, MS-Word TT0CITR T I 33T JUMH HRT 82
Options :

1. % U5 T ReH IIeddR 3|

2. % TG TS GUI ATYTRT SHTRIET Ried g1

3. % I Udh Jo TR 5|

4. % g U BHAW g

Question Number : 12 Question Id : 25498933066 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
tablets operate by a very small digital camera in the stylus, and then doing pattern matching on the image of the paper.
Options :
1. % Acoustic
2. % Optical
3. % Electromagnetic

4. ® Capacitive

Question Number : 12 Question Id : 25498933066 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
29dc TTEay B Uh 9gd B fefied IR gRT Tferd 81d 8, 3R fhr STel @t Bfd W Y firam axd
Options :
1. & FHFH (Acoustic)
2. % UPHIRP (Optical)
3. &= ﬁ?ﬂﬁw (Electromagnetic)

4. % GYTRA (Capacitive)

Question Number : 13 Question Id : 25498933193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In binary subtraction, which of the following operations will generate the borrow?
Options :

1. % 0-0

2. % 0-1

3. % 1-0

4. % 1-1

Question Number : 13 Question Id : 25498933193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
I TECaRM (Uerd) B, 370 ¥ HI-31 foran IRt (@1 Iaa wf
Options :
1. %= 0-0
2. % (-1
3. % 1-0
4. % 1-1

Question Number : 14 Question Id : 25498933853 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following mouse click(s) can be used to select a paragraph in MS-Word 2010?
Options :

1. *= Single left click

2. & Double left clicks

3. % Triple left clicks

4. & Single right click

Question Number : 14 Question Id : 25498933853 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2010 H, T& IRt &1 T9+ B & fore Fafaied & § iy A1 fode o1 SudinT fasan o gavd 52
Options :

1. % R due faes

2. % 39 AU foaes

3.« foua aue faae

4. % T3rQ Tse fRiD

Question Number : 15 Question Id : 25498934846 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The number of horizontal and vertical pixels on a display screen is called
Options :

1. % contrast

2. ® aspect ratio

3. % resolution

4. % persistence

Question Number : 15 Question Id : 25498934846 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

et T WR &t $fR SR e ot W & I
Options :

1. % BITRE

2. % T¥ae IRM

3.« RefleggH

4. % ORI

Question Number : 16 Question Id : 2549898162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

forht cafa an foreht 3T o GRT ZoR-H 3R UIITS &1 SIAM T J b R THISCY B JRI&d ITaT g |
Options :
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1. % UdarRy
2. % T WHIR
3. % JPBIIC ADBIAIC

4, ® TSR

Question Number : 16 Question Id : 2549898162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
keeps the account secure by preventing anyone or anything from guessing the username and password of a computer system.
Options :
1. % Antivirus
2. % Anti-spyware
3. % Account lockout
4. % Adware

Question Number : 17 Question Id : 2549898374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BIOS §RT Ao TRI&0N &1 U 4aal 5|
Options :
1. ® NTLDR
2. ® CMOS
3. % MBR
4. % POST

Question Number : 17 Question Id : 2549898374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is a series of tests conducted by the BIOS.
Options :
1. % NTLDR
2. ® CMOS
3. ® MBR
4. % POST

Question Number : 18 Question Id : 2549899423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fiieR &1 B T TP 3MUD! U & a1 SR BUTS BT AR ST 82
Options :

. ¥ SRR

2. % Syafie

3. ® USRS

4. % Sl

Question Number : 18 Question Id : 2549899423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which component of a printer helps you to print on both sides of the pages?
Options :
1. % Duplexer
2. % Dual print
3. & Edge guides
https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 8/38
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4. % Duplicator

Question Number : 19 Question Id : 2549899455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HISY & HER B 1 & Ty § DPI HT YURET F7 52
Options :

1. & STEF R U (Dots per image)

2. & @ﬁw TR S (Dots per ink)

3. %" BIcH WR 9 (Dots per inch)

4. % @ﬁ%ﬂ R SRy (Dots per intensity )

Question Number : 19 Question Id : 2549899455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to mouse curser speed, what is the full form of DPI?
Options :

1. ®= Dots Per Image

2. & Dots Per Ink

3. % Dots Per Inch

4. % Dots Per Intensity

Question Number : 20 Question Id : 2549899614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following issues is NOT identified by the printer test page?
Options :

1. *= Blocked printheads

2. % Alignment issues

3. % Matching colour replication

4. % Domain Name System issues

Question Number : 20 Question Id : 2549899614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fifex % U g1 FRafafed # © g awen &1 uga =51 81 urdl 82
Options :

1. % 3fRIfYd flicgs

2. % IGUT Heei A

3. % i B T ) A e

4.+ S 49 RiecH 0=

Question Number : 21 Question Id : 25498910780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fiies e ) WY 37 HA & fore Fafafed o @ fw feargw &1 IuanT fear o g g2
Options :

1. & MICR

2. % OCR

3. ® OMR

4. % ODT
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Question Number : 21 Question Id : 25498910780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following devices can be used to directly input printed text?
Options :

1. % MICR

2. % OCR

3. # OMR

4. % ODT

Question Number : 22 Question Id : 25498911113 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fead & g B 3R $1 T reAr iy A F e

Options :

1. % 3BT IUUNT TGN eI arg—i R fefrea Rwa vafea w3 & fore fear smar 21

2. % Jg U SAICI-dh SUSRUI § SNl 39 U B aret Riwrel 1 srrafefa srar g1

3. " g fafiid cads SiaTol BT SUINT R SeRB-aeS Aedian] JUBHRUN &b TS P HTEH J T UY P d1E HRab Yahe o
3% Tded % Uga H Heg Bl ¢ |

4. % Ug U GRRAY g [$a13Y § foIgeT SUgiT Aedd & arRed Havsl & 9gH & g fohar sar g1

Question Number : 22 Question Id : 25498911113 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following refers to router with reference to network?
Options :

1. % It is used to transmit digital signals over analog telephone lines.
2. % Ttis an electronic device that amplifies the signal it receives.

3. % It helps to transmit packets to their destinations by charting a path through the sea of interconnected networking devices using
different network topologies.

4. ® Tt is a wireless network device used to extend the wireless coverage of a network.

Question Number : 23 Question Id : 25498913434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

22T T T & T P B RiG, MPEG afd I ol U i it AT A iR e 22
Options :

1. % 1.55H, P-pY 3R B0 H

2. & 1.35H, p-IhY SR F-IhH H

3. % M-pH, P-3pH SR B-IHH H

4. % 1.TpH, X-T5H 3R B-IpH

Question Number : 23 Question Id : 25498913434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

In Temporal compression of data, the MPEG method first divides the frames into which of the following three categories?
Options :

1. % I-frames, P-frames and B-frames

2. % [-frames, P-frames and F-frames

3. % M-frames, P-frames and B-frames

4

. % [-frames, X-frames and B-frames

Question Number : 24 Question Id : 25498913450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Apple Macintosh Wﬂmﬁmmﬂﬁﬁmmﬁﬁmmmmﬁmﬁ%l
Options :
1. % AIFF
2. ® TIFF
3. &% GIF
4. % JPEG

Question Number : 24 Question Id : 25498913450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is one of the most-used audio file formats used in the Apple Macintosh operating system.
Options :
1. % AIFF
2. ®= TIFF
3. ® GIF
4. & JPEG

Question Number : 25 Question Id : 25498918484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fTiex 3ieh A HTH B TP [T I Hgi TR @[ ST AT
Options :

1. % GRS B AT U & fore fes et & oy

2. % T JHAA IR RR GG W

3. % flicanae 2o 3 Ud HA & forg &R & Uy

4. % g H HS-TS arell 78 W

Question Number : 25 Question Id : 25498918484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Where should a printer be placed for it to work properly?
Options :

1. % Near a window to get sunlight

2. % On a flat and stable surface

3. % Near the feet to get the printouts quickly

4. % In high-traffic areas of the office

Question Number : 26 Question Id : 25498921928 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FHeaT (TURPRM) TENTRYH &1 URUM (3AT3TYC) |

Options :

1. % RIBRCHRC (Ciphertext)

2. = %’-‘ZTWH (Hash function)
3. & I ¢RT (Plaintext)

4, & %QTEI% (Hash key)

Question Number : 26 Question Id : 25498921928 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is the output of encryption algorithm.
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Options :
1. % Ciphertext
2. & Hash function
3. % Plaintext
4. % Hash key

Question Number : 27 Question Id : 25498922686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gfe 3% Auery H1 LeD fewat 1 (F&m) i1 91 6T &, dl 59 Y01 &l 311U &l g hl?

Options :

1. % Perd U9d B UIaR W@H IR ST, IRId TS (818 IRWGRET) BT T899 B3 3R TIRIHdT & SHIHR F3c-d ARG B |
2. # QUCIY &1 HI-aS WfeT gad

3. % ol &Y oy sedt

4 % TSI ) Sl A Bl STl

Question Number : 27 Question Id : 25498922686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If your laptop's LCD display is getting dim, how do you solve the issue?
Options :

1. % Go to power plan in the Control Panel, select the appropriate plan (high performance) and adjust the brightness according to the
need.

2. & Change the keyboard setting of the laptop.
3. % Change the power supply.

4. % Increase the power supply voltage.

Question Number : 28 Question Id : 25498924443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

79 & I S I AR (UNIX) FT T U1 dHerd ReH Hid a1 82
Options :

1. & fork()

2. % exit()

3. % wait( )

4. % out( )

Question Number : 28 Question Id : 25498924443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a process control system call of UNIX?
Options :

1. & fork()

2. % exit()

3. & wait( )

4. % out( )

Question Number : 29 Question Id : 25498925378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HER HYER 3PS Hol I §9d P g |
Options :

1. % URUR®, yfid
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2. % TUCIY, S
3. % 3@y, duerg
4. % 5, A

Question Number : 29 Question Id : 25498925378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
computers save more energy than computers.
Options :
1. % Traditional; modern
2. % Laptop; desktop
3. & Desktop; laptop
4. % Old; new

Question Number : 30 Question Id : 25498927428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

oM (Linux) T §¢ TSR &) o1 8T 1T 82
Options :

1. % Jd (GRUB)

2. ® BHIBI (Config)

3. & foRe (List)

4. & 19 (Sys)

Question Number : 30 Question Id : 25498927428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In Linux, what is a boot loader called?
Options :

1. ¥ GRUB

2. % Config

3. ® List

4. % Sys

Question Number : 31 Question Id : 2549896713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Generally, the '.com' indicates a website of a type of organisation.
Options :

1. ®= company

2. % complex

3. % commercial

4. % common

Question Number : 31 Question Id : 2549896713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3T TR W, '.com (STHIH) Tg ST & fP Jawzge ST YR BT 8
Options :
1. % Ut
2. % B
3. HIARM™A
4. % PIAA
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Question Number : 32 Question Id : 2549896715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to internet, E-Mail stands for
Options :

1. % Entry mail

2. % Electronic mail

3. % Extranet mail

4. % Engineering mail

Question Number : 32 Question Id : 2549896715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gexe & Ued ¥, S Aa w1 guf = gl
Options :

1. ® g8

2. o TAICIHD B

3. & TRYMC B

4, % o A

Question Number : 33 Question Id : 2549896716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following programs allows parents as well as organisations to block selected sites and set time limits on the internet access?
Options :

1. = FTP

2. % Plug-ins

3. ® WAIS

4. % Web Filters

Question Number : 33 Question Id : 2549896716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

75 7 § SH-I1 T SfHTaD! SR ST D1 M T D 3HTFG B IR S Loy R g0 U1 (e o
3fgAfa ar e

Options :

1. %= FTP

2. & W

3. % WAIS

4. % 99 foheed

Question Number : 34 Question Id : 2549897026 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
are small files of information that a web server generates and sends to a web browser.
Options :
1. % Anonymous files
2. % Behaviour files
3. & Banner ads
4. % Cookies

Question Number : 34 Question Id : 2549897026 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

I $1 BI BISd BIcit & ot U 99 Yk I Hal § 3R U 9F STSoR Bl Aol 5|
Options :
1. ® TAIHEY B
2. & fRfoR W
3. & SR USY
4. ¥ DI

Question Number : 35 Question Id : 2549897730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following terms is used to move from one page to another page or from one website to another website?
Options :

1. %= Accessing

2. % Searching

3. %" Browsing

4. & Tagging

Question Number : 35 Question Id : 2549897730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T JY Y O UF 1 U J99TSe J G J99Ise R O 3 1 H 3 B19-8 Xeq o1 JUdNT fsam Sirefm 82
Options :

1. % TR

2. & gffT

3. & SIS

4. ® A

Question Number : 36 Question Id : 2549897945 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With respect to the internet, what is the full-form of FTP?
Options :

1. % Fast Transmission Protocol

2. % File Transfer Protocol

3. & Fast Telecommunication Protocol

4. % First Telecommunication Protocol

Question Number : 36 Question Id : 2549897945 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e & Yl A, Frp ST quf U aan 82

Options :

1. & RC @ﬂﬁlﬂ:{ PIECAK (Fast Transmission Protocol)

2.« TI3d CIIHR UICIdId (File Transfer Protocol)

3. & hRC CQ‘IGIObRZIj'\'id‘JQI'i EIEA (Fast Telecommunication Protocol)
4. % T CHIHIYH R WEIdId (First Telecommunication Protocol)

Question Number : 37 Question Id : 2549897992 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the purpose of Bookmark, In context of web browsing?
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Options :
1. % Save and organize specific websites so you can revisit them again and again
2. & Move through websites you've recently viewed
3. % Save an image from a website to your computer

4. % asmall applications that allow you to view certain types of content within your web browser

Question Number : 37 Question Id : 2549897992 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 T3 & T B FHATS HT 35T 1 82

Options :

1. «* fafR1Y JaHTCl B! VT HRAT TUT HARYT FHAT dlfh 3T 3 R TR-IR S o

2. % P R ETA &1 H <l T3 a3l P HIeqH J 371 FeT

3. % fohdfl JENTEC ¥ 304 HER R T 30Ol Ud HAl

4. % U BICT SIYANT S 3T 30 3T STS9R A $3 [aRT YbR Bl Wl S Bt 3rgwfa ST g

Question Number : 38 Question Id : 2549898972 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The full form for WAIS is:

Options :

1. % Wide Area Information Server
2. % Wide Area Internet Service

3. & Wide Area Intranet Service

4. % Wide Area International Service

Question Number : 38 Question Id : 2549898972 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S&Y,U.3MTS.TY. (WAIS) FT faxaid U a1 82

Options :

1. % Wide Area Information server (dIgS Qﬁ'ﬁﬂ sfthJ:IcQH ﬂé'{)
2. % Wide Area Internet Service (dIgS Qﬁ'ﬁﬂ éde Hﬁﬂ)

3. % Wide Area Intranet service (A19S qfan 3?;@?.’ ﬂﬁ'ﬂ)

4. % Wide Area international service (dIgS U g3 éCQQ-‘ZHN m)

Question Number : 39 Question Id : 25498910436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

In MS-Word 2016, how many operations does the keyboard shortcut SHIFT + F3 perform simultaneously?
Options :

1. ¥ 1

2. % 2

3.%3

4, % 4

Question Number : 39 Question Id : 25498910436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
MS-Word 2016 B, B1aTS Ri¢ae SHIFT + F3 U A1 fard= SHTORRM & § W& ol 82
Options :
1. %1
2, %2
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3.%3
4, % 4

Question Number : 40 Question Id : 25498910537 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a valid cell address in MS-Excel 2019?
Options :

1. % 9AB

2. % A9B
3. % ABC
4. % ABS

Question Number : 40 Question Id : 25498910537 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fARfefad o @ SH-91, MS-Excel 2019 7 U 39 7 T3 82
Options :

1. ¥ OAB

2. % A9B

3. % ABC

4. %" ABS

Question Number : 41 Question Id : 25498910634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the maximum number of lines you can set for lines to drop cap in MS-Word 2019?
Options :

l.%5

2.% 10
3. %15
4. %20

Question Number : 41 Question Id : 25498910634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 H, 310 5T & w31 & forg 3y Sifiieha fba ozl & e R Jobd 82
Options :

1. %5

2.% 10
3.% 15
4. %20

Question Number : 42 Question Id : 25498910711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which command locates and replaces specified text and formatting in an MS-Word 2019 document?
Options :

1. % Format

2. % Search

3. & Look up

4. % Find and Replace
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Question Number : 42 Question Id : 25498910711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fHElt MS-Word 2019 SiagHe H, HH-91 HHTS FAfEP Tae 3R BT ot fRufa &1 ar amdr 8 3R Seel drar g2
Options :

1. % B

2. %

3. & b AU

4. BT38 T8 Ry

Question Number : 43 Question Id : 25498910730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What will you call """?

Options :

1. = Tab character

2. & ASCII character

3. #% Paragraph mark

4. % Caret

Question Number : 43 Question Id : 25498910730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
nAn T 3T T Hgi?

Options :

|, ® 39 HRaR

2. ® ASCII BGER

3. & TRT A1

4. " PIC (Caret)

Question Number : 44 Question Id : 25498911460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Rahul's company's name includes 'Ltd'. MS-Word will automatically capitalise any word following an abbreviation. To prevent this
capitalisation, Rahul must add 'Ltd.' to the list.

Options :

1. ®= Autoset Exceptions

2. % AutoCorrect Exceptions
3. % AutoCorrect

4. & Autoabbreviation Exceptions

Question Number : 44 Question Id : 25498911460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

G DI BUHT & A T 'Led." A §, MS-Word HATTER BT STIRUI FRb [t +ft Weq H1 Waferd U I FHited o <1 39
HUCAZIRM B AP & Y, A BT 'Lid. P gl ® SIS g

Options :

1. % 3T TR

2. & 3ficiNde TR

3. ¥ 3ficIhrac

4, % JICITSIIT TR

Question Number : 45 Question Id : 25498911488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
All the uses of the AutoCorrect feature are supported by how many parallel list(s) of words?
Options :
1. %1
2.% 2
3.%3
4. &% 4

Question Number : 45 Question Id : 25498911488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%W@W(feature)%ﬂﬂ-ﬁmmaﬁ WWWW%I
Options :

1. %1

2.% 2

3.%3

4. % 4

Question Number : 46 Question Id : 25498911821 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Studw the given image and select the action perfomeed

Options :

1. % Line spacing

2. % Paragraph spacing
3. % Margin setting

4. = Page size

Question Number : 46 Question Id : 25498911821 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2 g e O S Pt R 2 veee a

Options :

1. % g Wik
2. % TR R
3. Tl TfeT
4. % U¥ 3[HR

Question Number : 47 Question Id : 25498911970 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which group of the Home tab in MS-Word 2019 can we find multilevel lists?
Options :

1. * Clipboard

2. % Paragraph

3. % Styles
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4. % Font

Question Number : 47 Question Id : 25498911970 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 T B ¢§ & v TIg & SHTUeh! Sgasid i et
Options :

1. % f3AUElS (Clipboard)

2. « TR (Paragraph)

3. % I (Styles)

4. % I (Font)

Question Number : 48 Question Id : 25498912505 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A MODEM is required for accessing the internet through a cable. What does the term MODEM mean?
Options :

1. % Modulator/Demodulator

2. % Modern Machine

3. % Modulator/Defragmenter

4. % Modem Dynamics

Question Number : 48 Question Id : 25498912505 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ATSH (MODEM) T STIRTHdl Ut bad P HILH J Se3-e &b TaY 3g i Sl 3 | AISH Weg o T 312 72
Options :

1. % Hiegeicr/aHTegaie] (Modulator/Demodulator)

2. & ﬂfg:fqgﬁ:f(l\/lodem Machine)

3. % Tregacy/SIher (Modulator/Defragmenter)

4. & HigH ST (Modem Dynamics)

Question Number : 49 Question Id : 25498919164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To insert electronic postage in the envelope in mail merge, the checkbox has to be enabled.
Options :

1. ®= Add Postage

2. % Add electronic postage

3. # Insert electronic postage

4. ® Add Postage stamps

Question Number : 49 Question Id : 25498919164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ad 7ol (merge) CARLa (envelope) e m RS STaH & ol fhg Ahaiad &1 3ad (enable) foar ST =T
Options :

1. ¥ TS URSH

2.+ TS TGS H® URes

3. % $UC 3N URCO

4. % TS U g
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Question Number : 50 Question Id : 25498932152 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Video conferencing is an online technology that allows users from different locations to hold meetings without having to move to
a single location together.

Options :

1. % face-to-face
2. % offline

3. & logged off
4. = logged down

Question Number : 50 Question Id : 25498932152 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Ff e HITHRAT TP 3fiez dob-ie & S Al R & ST sl B U WY U R TR o1 famr e smaifora
& B gl TR R

Options :

1. B¢ By

2. ® argd

3. % QNS AP

4. ® QNS B3

Question Number : 51 Question Id : 25498933772 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the process of receiving data from a remote machine to a local machine called?
Options :

1. % Uploading

2. % Restarting

3. % Reloading

4. % Downloading

Question Number : 51 Question Id : 25498933772 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

oy e (remote machine) I ®Hg A=A (local machine) T ST UTW H=- & Uiehal I fordd 18 I ST SiTet %?
Options :

1. % SUeffST

2. & QeI

3. & QefEn

4. & STITAINSTT

Question Number : 52 Question Id : 25498934490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

When you 'reply' an email, which of the following fields is automatically filled?
Options :

1. % To

2. & BCC

3. % Subject

4. % CC

Question Number : 52 Question Id : 25498934490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

S 3T TH S/ 'reply’ IR &, FEfRad & ¥ H1H-3 wics Warfed 0 4R Skt 82

Options :
1. % To
2. & BCC
3. % Subject
4. & CC

READING COMPREHENSION
Section Id : 2549896978
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 5
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897019
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 25498921091 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)

Read the given passage and answer the questions.
Prehistoric Man

The prehistoric man lived thousands of years ago. Archaeologists have dug up artifacts and have travelled through dark caves to study
about him. They have come up with drawings, skeletons and various other things such as fossils, hunting tools, bones, etc. These valuable
treasures have helped us learn a little more about that man.

Who was that man? He was the great-great-grandfather of the human race. From what we know, he looked nothing like most humans look
today. In fact, some think he looked a little bit like an ape. He was a hairy specimen with thin fingers and long hands that had hair on the
back of them. His skin was dark brown because of the sun that beat down on him all day. His jaw was strong, and his teeth looked like the
teeth of a wild animal. They were razor sharp because he had to use them to tear apart tough meat of wild animals like boars.

That man lived in thick forests. More than the deserts, the world had dense green patches. He ate whatever leaves, plants and fruits he
could find in the forests. He ate the eggs of the birds. With a sharp stick and speed, he could sometimes catch small animals, such as birds
and bunnies, to eat for dinner.

He could not cook his food because he was not familiar with fire and had no other source of heat. In the winter, he braved the cold or hid in
warmer caves in the mountains and covered himself in piles of leaves. He did not have clothes to keep him warm. He did not have a home
either. Instead, he and his family moved from cave to cave or stayed in hollowed out trees.

That man could not read, write or even speak words like we do today. He made sounds to warn other men of danger and to communicate
his feelings.

The great-great-grandfather of the human race was not at all like humans are today. He did not have the skills or knowledge to help him get
by. However, he learned to survive and gradually evolved to become the humans that we know today.

Sub questions

Question Number : 53 Question Id : 25498921092 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
How did the archaeologists gather information about the prehistoric man?
Options :
1. ®= They saw him in jungles.
2. % They dug up artifacts.
3. % They dug up their treasures.
4. % They studied cave drawings.

Question Number : 54 Question Id : 25498921093 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The prehistoric man looked more like:
Options :

1. % an ape

2. % awild animal

3. # his great-grandfathers

4. % a human being

Question Number : 55 Question Id : 25498921094 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Where did the prehistoric man live?
Options :

1. % In grasslands

2. % In the thick forests

3. % In deserts

4. % In the mountains

Question Number : 56 Question Id : 25498921095 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The prehistoric man ate all of the following, EXCEPT:
Options :

1. % bird eggs

2. * birds and bunnies

3. & plants and leaves

4. % big animals

Question Number : 57 Question Id : 25498921096 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Which of the following options is NOT a correct choice for completing the statement given below?

The prehistoric man protected himself from the cold by:
Options :

1. ®= living in caves

2. % living in hollows of trees

3. % making a fire

4. ® covering himself with leaves

Question Id : 25498921091 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)
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Sub questions

Question Number : 53 Question Id : 25498921092 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YRR ATal & TR | Ridaarei 3 g @i ¥ THeR! Ued B
Options :

1. % IgH 3 ST H ¢

2. % IgI 3D AR B! Gig HeTa

3. % I8 3P Wl Bl Wi Fprer|

4. % IGH ISP 0T Al &1 3rema foba|

Question Number : 54 Question Id : 25498921093 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
ARG IHa Y oRe e ol
Options :

1. % TR

2. & SIell SR

3. % 30 WRaTal

4. % TH AT

Question Number : 55 Question Id : 25498921094 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
UMfagTiie A-d P8l IgaT U1
Options :

1. % 99 & B o

2. " G STl B

3. % RN H

4, % Ui H

Question Number : 56 Question Id : 25498921095 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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e aFa & Sifaied 9 $ QT ol
Options :

1. ® Uigri & 3fS]

2. % UR3EY 3R TR

3. % O} 3R ufvat

4. % §S IHRI

Question Number : 57 Question Id : 25498921096 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFoffed fased! & 3 3 91 i 3T 71T U &1 QU 37 & o 81 781 o2
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Options :

1. % I3l H 3§ B

2. % G US| H g R

3. % 3T O[] HX

4. % ORI 9 GE P ghdh

QUANTITATIVE APTITUDE

Section Id : 2549896979
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897020
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 58 Question Id : 25498914284 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the approximate value of the given expression?
(Note: you are not expected to calculate the exact value)
29.8% of 260 + 60.1% of 510 — 103.57

Options :
1. % 450
2. % 320
3. %210
4. % 280

Question Number : 58 Question Id : 25498914284 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fer=ffe ma & ma TE (7) F TS 9T Hied WIS W R WU (6 W A
MO FA FTET RN

260 1 29.8% + B10 & 60.1% - 10357 = 7
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Options :
% 450

3. % 210

4.« 280

Question Number : 59 Question Id : 25498914303 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Select the option that can replace the question mark (71 in the given cquation,

{vﬁ— 3 ]3 S P i T

Options :

L w13 - 243
2. & |3

3 & 13—443
4 % 1

Question Number : 59 Question Id : 25498914303 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o=faim v # wea B (7) F e 9 & 6@ wmer i

(W3- 2y =?+12-+36

Options :

L 13243
2.% 13

3 x 13 443
4.% 1

Question Number : 60 Question Id : 25498928985 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Aoquestion s given, followed by three statemenis labelled L 11 and L1 Identify which of the
statemments are sufficient and necessary to answer the questicn.

Cuestion:

Whiat 15 the cost of the mill in & completely filled cvlindrical tank?

Slalemenis:

1. The area of the base of the tank is 2464 cme.

I1. The area of a square with side squal w coe-thivd of the tank’s hedehl bs 841 oo
1L The cost of the milk per Liles 1s 245

Options :
1 = The question cannot be answered even with the information given in all three statements.

5w Only statement 1L amd efther starement [ of 10

3 o Al statements L, 11 and 1L

4 = Omly statemenrs 11 and 11

Question Number : 60 Question Id : 25498928985 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TF A HR S A SR o i A Rrew s w Ao st A R A F
fore wte ¥ Fus yrmas Al 9T ¥ oeER 3RR W 99 w

U FRR T A YA WG W WL §E g9 & e #47 §ene
L =R ¥ ynnT I daEE 2464 T i B
L f I S ooE T e T OF 99 & aew 841 79 #deTe B
. wf FET g ow AET 45§

Options :

| T FUSA # & T FEeEr & 7y d F3T # 5eod T80 BeT 3 FeT

o x Fad |l | Wl F v
3w | FE N e

4w e || T

Question Number : 61 Question Id : 25498928992 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A sold an article at 10% loss on the cost price. He had bought it at a discount of 20% on the labelled price. What would have been the loss
percentage had he brought it at the labelled price?

Options :
1. % 34%
2. % 18%

3. & Data provided are not adequate to answer the question
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4. % 28%

Question Number : 61 Question Id : 25498928992 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A T TR & TR AT Hed § 10 W g W T §| 3E 9W aRg A SEe Hie AR ®
20 SfEwE o oT Wi o % IEE SEg F 3ER S AU O ST E AT 3EE g1 S F4r
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Options :

1w 34%

5 % 18%

s x WO @ o€ 2 & fAv Ry e der qoiew w9 2

4 o 28%

Question Number : 62 Question Id : 25498929062 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that can replace the question mark (?) in the given equation. (Note: you are not expected to calculate the exact value)

7% 01 1239.96 + 59.87% of 449.95 = 579.05
Options :

1. % 35

2. % 15

3.% 25

4. % 20

Question Number : 62 Question Id : 25498929062 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
frrrfarfle T3 7 99aEa (7) & T 97 9080 AT F40 f@ Tifge? (e e o A
e &7 yErEeRaT FET )

% of 123906 + 59.87% of 44295 = 579.05
Options :

1. ®% 35

2. % 15

3.% 25

4. % 20

Question Number : 63 Question Id : 25498929345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What would be the measure of the diagonal of square whose area is equal to 882 cm??
Options :

1. % 38 cm

2. % 32 cm

3.% 42 cm
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4. % 48 cm

Question Number : 63 Question Id : 25498929345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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) x 32 HorEET
3w 42 HEHET

4. = 48 HEARET

GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549896980
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897021
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 64 Question Id : 25498910375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option in which the words share the same relationship as that shared by the given pair of words.

Iodine : Goiter

Options :

1. % Insulin : Diabetes

2. % Mango : Anaemia

3. % Hormones : Haemophilia
4. ® Fat : Obesity

Question Number : 64 Question Id : 25498910375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. f%’ﬁﬁﬂ:ﬂgﬁ%
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2. ® W:Q:ﬁﬁtﬂ
3. »smﬁ:%ﬁﬁ?%m
4. % g9 : Hlemdr

Question Number : 65 Question Id : 25498912877 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The position of how many letters in the word BRAKES remains unchanged when they are arranged in alphabetical order?
Options :

1. % One

2. % Two

3. & Three

4. % More than three

Question Number : 65 Question Id : 25498912877 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e BRAKES & &R} &I qurishd & s7afyd & W fhan 3R ot fufa  #is ufkad= 78t gme
Options :

1. & Uh

2. # 3l

3. ®

4, % AT Y offdp

Question Number : 66 Question Id : 25498919613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate description about the given set of words.

Petrol : Phosphorus : Cooking gas
Options :

1. ® They are fuels.

2. % They are highly inflammable.

3. % They can’t be sold without permit.

4. % India has to import them.

Question Number : 66 Question Id : 25498919613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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WWW%

Options :

|, % ST G

2.+ Y AP S B

3. % I8 Wffe & o o1 el o gpar B
4. % YR B 3¢ AT AT ST 8 |

Question Number : 67 Question Id : 25498919681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third number in the same way as the second number is related to the first number and the sixth
number is related to the fifth number.
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30:110::182:7::210:380
Options :
1. % 156
2. & 240
3. & 271
4. % 342

Question Number : 67 Question Id : 25498919681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
@@WWW@TWW%G@WW%%MWWMWM%Gﬁ?%ﬁwuﬁﬁmﬁ
NEIREE]

30:110::182:?::210:380
Options :
1. & 156
2. & 240
3. & 271
4. % 342

Question Number : 68 Question Id : 25498920307 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. %= Canoe

2. % Dinghy

3. % Yacht

4. % Igloo

Question Number : 68 Question Id : 25498920307 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % St

% Pl

% gic

JEIN¢
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Question Number : 69 Question Id : 25498928154 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code language, INDIA HAS WON FIRST GOLD MEDAL is written as JFZJU OUV SEF PIDVB REQZ ITZUQ. How will
WOOD be written in that language?

Options :

1. = BEEZ
2. % ZEES
3. % LEEB
4. % SEEZ

Question Number : 69 Question Id : 25498928154 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T AT FeHTST H, INDIA HAS WON FIRST GOLD MEDAL &I JFZJU OUV SEF PIDVB REQZ ITZUQ & &0 H ferdr wrar 71

I HeUTST § WOOD &I ford =0 I forar S

Options :

1. ® BEEZ
2. = ZEES
3. % LEEB
4. % SEEZ

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Display Number Panel :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Question Number : 70 Question Id : 2549895248 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

GENERAL AWARENESS

2549896981
5

Online
Mandatory
6

6

6

Yes

Yes

0

1
2549897022
Yes

null

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Special Economic Zones (SEZ) Act was passed by Parliament in the year:

Options :
1. % 2004
2. %2005
3. % 2006
4. % 2000

Question Number : 70 Question Id : 2549895248 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TE GRT W IS0 S (SEZ) 3o fooe av § urfed fasam mar ur

Options :
1. % 2004
2. % 2005
3. % 2006
4. &% 2000

Question Number : 71 Question Id : 2549899666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Buckingham Canal, which was declared a National Waterway of India in 2008, is a canal running from:

Options :
1. *= Punjab to Haryana
2. % Vijayawada to Villupuram
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3. % Cochin to Kozhikode

4. % Kanyakumari to Rameshwaram

Question Number : 71 Question Id : 2549899666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SfTEH T, R 2008 B HRA o1 BV STean Difvd fbar a8 e vaTed gl 31
Options :

1. % Uolre 9 giamon

2.« faorgareT ¥ faqura

3. % DI A HISiDIg

4. % SR W THRA

Question Number : 72 Question Id : 2549899856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the columns.

Events Years in which they took place
A. Khilafat Movement 1. 1930

B. Chauri-Chaura Incident 2. 1917

C. Champaran Movement 3.1919

D. First Round Table Conference 4.1922

Options :

1. ® A-2, B-3,C-4, D-1
2. % A4, B-1,C-2,D-3
3. % A-2,B-1,C-4,D-3
4. % A-3,B-4, C-2, D-1
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Correct Marks : 1 Wrong Marks : 0
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C. IR 3figIe 3.1919

D. UYH T Hol e 4.1922
Options :

1. ® A-2,B-3,C-4, D-1
2. ® A4,B-1,C-2,D-3
3. % A2, B-1,C-4,D-3
4. % A-3,B-4,C-2,D-1

Question Number : 73 Question Id : 25498912766 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With which of the following sports is Irani Trophy associated?
Options :

1. % Football

2. * Table tennis

3. % Cricket
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4. % Hockey
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Options :

1. % Padid

2. % 9 g

3. % fobape

4. % GidY
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Correct Marks : 1 Wrong Marks : 0

Who among the following was thrice elected as President of the Indian National Congress?
Options :

1. % Dadabhai Naoroji

2. % Surendranath Banerjee

3. & Gopal Krishna Gokhale

4. % Shankaran Nair
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Question Number : 75 Question Id : 25498932555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

Which of the following countries was the earliest to give women the right to vote?
Options :

1. % Iceland

2. % India

3. % New Zealand

4. % The US
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Options :

1. % 3Made
2. % YRd

3. % oS

4. % JTY. (US)
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Section type : Typing Test
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Section Marks : 0
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Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897023
Question Shuffling Allowed : No

Is Section Default? : Yes

Question Number : 76 Question Id : 25498940883 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,

socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children

have fun during this process as they get to explore new arenas.
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English Typing Test
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Section Number : 1

Section type : Typing Test
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Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0
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Question Number : 77 Question Id : 25498937911 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

Social media has become one of the most emerging aspects of society. There are actually two versions of media which include
mainstream media and social media. Mainstream media comprises television and newspapers whereas social media networking
sites offer communication which is known as social media. People of various age group consistently use social media for reading
news and to communicate with nears and peers. In the past era people were bound to live by the information they learned from
their elders. But in present world of social media they can acquire versatile information just by one click. The new generation
often thinks beyond the inspiration they took from their parents due to the emerging trend of social connectivity and search for
different avenues in life. Social media bears the power of divergent public opinion. People can express what they feel about
government policies. In a democratic state people feel free to talk about different perspectives of governance and let others know
what they feel about the pros and cons of particular governing criteria. People can raise public perception about certain issues
without visiting door to door. Surveys can also be done via social networking without spending many fiscal resources. Electronic
media let us know about the main scenario and do not usually allow the general public to express their opinion. It is just the power
of social media that can set the course for electronic and print media altogether. Mark Zuckerberg who launched Facebook never
knew of its widespread use and significance back then. He developed Facebook to enhance the connection between college friends
and family members. The social media giant is now utilized worldwide and people from every walk of life use it to express and
depict what they like to share. Social media is cost effective and charges far less than other connection options like mobile phone
companies. WhatsApp can be used to transfer huge data at very low costs. Social media is a source of information for students
with different social and economic backgrounds. Those who do not have access to any standard library or costly books can get
quality knowledge shared through web browsers and other social networking sites. Although social media is thought to strengthen
family relations by simply coming in frequent contacts through social media it is considered that social media has harmed the
nuclear family bond. Family members and other residents living in the same house look busy in scrolling down the social media
sites of their own will and do not spend much time in family gatherings. Targeted harassment and hate content is an evil
confronting social media outlets. People can spread hate content to others and remains largely out of the reach of law enforcers.
This one thing causes much more concern in government circles on how to combat such crimes. Cyber laws are made an obligation
and are amended from time to time to ensure the safety of online information and to do away with hate content. The economy of a
country can be improved by transforming the economic state of its people. The trade unions uplifts in the exports via social
networking sites can make the country a global economy. Social media has many positive perspectives and constraints but it has
now become a necessary evil.
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